PART I

For each of the words in Capital letters, choose from among the answers, the word that is closest in meaning:

(1) REMONSTRATE

(A) display   (B)restate   (C)protest   (D)resign   (E)reiterate

(2) REPARTEE

(A) witty retort   (B)willful departure   (C) spectator  (D)monologue   (E)sacrifice

(3) REPELLENT

(A) propulsive   (B)unattractive   (C)porous   (D)stiff   (E)elastic

(4) REPERCUSSION

(A) reaction   (B)restitution   (C) resistance  (D) magnificence  (E)acceptance

(5) REPLENISH

(A) polish   (B)repeat   (C)reinstate   (D)refill   (E)refuse

(6) REPLICA

(A) Museum piece (B) famous site   (C) battle emblem   (D) facsimile   (E) replacement
(7)  REPRISAL

(A) reevaluation   (B)assessment   (C)loss   (D)retaliation   (E)nonsense

(8) REPROVE

(A) prevail   (B)rebuke   (C)ascertain   (D)true faults   (E)draw back

(9) REPUDIATE

(A) besmirch   (B)appropriate   (C)annoy   (D)reject   (E)avow

(10) REPUGNANCE

(A) Belligerence   (B) tenacity   (C) renewal   (D) pity   (E) loathing
For each of the words in Capital letters, choose from among the answers, the closest word that has the opposite meaning:

(11) TOPICAL

(A)general  (B)disinterested  (C)chronological   (D)fallacious  (E)imperceptible

(12) FULMINATE

(A) authorize (B)dominate  (C)edify   (D)illuminate  (E)praise
(13) TURBID

(A) vigorous  (B)limpid  (C)turgid   (D)viscous  (E)rancid

(14) TYRO

(A) zealot  (B)prodigal  (C)braggart   (D)expert  (E)nihilist

(15) ADULTERATED

(A) solid  (B)immature  (C)exalted   (D)pure  (E)virtuous

(16) DISTEND

(A) deflate  (B)prolong  (C)commence   (D)forecast  (E)prevent

(17) TRANSIENT

(A) permanent  (B)desultory  (C)spontaneous   (D)subterranean  (E)obsequious

(18) REVILE

(A)compose  (B)awake  (C)deaden   (D)praise  (E)secrete

(19) ELATED

(A) crestfallen  (B)inebriated  (C)punctual   (D)insulted  (E)lamented

(20) PROPITIOUS

(A) adjacent (B) clandestine (C)contentious   (D)unfavourable  (E)coy

Read the following text.  The passage contains some blank spaces.  Choose the sentence from the list A – I, that best fits in each of the blank spaces.  The numbers in brackets  refer to Question numbers.

At the present time, 98 percent of the world energy consumption comes from stores sources, such as fossil fuels or nuclear fuel. ___21____ Discovery of large additional fossil fuel reserves, solution of the nuclear safety and waste disposal problems, or the development of controlled thermonuclear fusion will provide only a short-term solution to the world’s energy crisis. Within about 100 years, the thermal pollution resulting from our increased energy consumption will make solar energy a necessity at any cost.

Man’s energy consumption is currently about one part in ten thousand that of the energy we receive from the sun. ___22___. If this growth continues, within 100 years our energy consumption will be about 1 percent of the absorbed solar energy, enough to increase the average temperature of the earth by about one degree centigrade if stored energy continues to be our predominant source. This will be the point at which there will be significant effects in our climate, including the melting of the polar ice caps. A phenomenon,  which will raise the level of the oceans and flood parts of our major cities. ___23____. As the ice caps begin to melt, the reflectivity will decrease, thus heating the earth still further.

It is often stated that the growth rate will decline or that energy conservation measures will preclude any long-range problem. Instead, this only postpones the problem by a few years. Conservation by a factor of two together with a maintenance of the 5 percent growth rate delays the problem by only 14 years. ___24___; in addition, the inequalities in standards of living throughout the world will provide pressure toward an increase in growth rate, particularly if cheap energy is available. The problem of changing climate will not be evident until perhaps ten years before it becomes critical due to the nature of an exponential growth rate together with the normal annual weather variations. ___25____. 

The only practical means of avoiding the problem of thermal pollution appears to be the use of solar energy. (Schemes to “ air-condition” the earth do not appear to be feasible before the twenty-second century). ______26_________. The cost of solar energy is extremely favorable now, particularly when compared to the cost of relocating many of our major cities.

A. However, it is growing at a 5 percent rate, of which about 2 percent represents a population growth and 3 percent a per capita energy increase.

B. The primary concern is isolating an ambiguity and clarifying by definition

C.  There is positive feedback that associates with this process, since the polar ice cap contributes to the partial reflectivity of the energy arriving form the sun:

D. Only hydroelectric and wood energy represents completely renewable sources on ordinary time scales.

E. Reduction of the growth rate to 4 percent postpones the problem by only 25 years;

F. The melting of polar ice caps will accelerate the transition to solar energy

G. This may be too short period to circumvent the problem by converting to other energy sources, so advance planning is a necessity.

H. It is proposed to utilize the hydroelectric and wood energy to replace non- conventional energy sources such as nuclear energy

I. Using the solar energy before it is dissipated to heat does not increase the earth’s energy balance.

Reverse discrimination, minority recruitment, racial quotes and more generally affirmative action are phrases that carry powerful emotional charges. But why should affirmative action, of all government policies, be so controversial? In a sense, affirmative action is like other governmental programs, e.g. defense, conservation, and public schools. Affirmative action programs are designed to achieve legitimate government objectives such as improved economic efficiency, reduced social tension, and general betterment of the public welfare. While it cannot be denied that there is no guarantee that affirmative action will achieve these results, neither can it be denied that there are plausible, even powerful, sociological and economic arguments pointing to its likely success.

Government programs, however, entail a cost, that is the expenditure of social or economic resources. Setting aside cases in which the specific user is charged a fee for service (toll road and tuition at state institutions) the burdens and benefits of publicly funded or mandated programs are widely shared.


When an individual benefits personally from a government program, it is only because she or he is one member of a larger beneficiary class, e.g., a farmer; and most government revenue is obtained through a scheme of general taxation to which all are subject.

Affirmative action programs are exceptions to this general rule, though not, as might at first seem because the beneficiaries of the programs are specific individuals. It is still the case that those who ultimately benefit from affirmative action do so only by virtue of their status as members of a larger group, a particular minority Rather, the difference is the location of the burden. In affirmative action, the burden of “funding” the program is not shared universally, and that is inherent in the nature of the case, as can be seen clearly in the case of affirmative action in employment.  Often job promotions are allocated along a single dimension, seniority; and when an employer promotes a less senior worker from a minority group the person disadvantaged by the move in easily identified; the worker with greatest seniority on a combined minority – non-minority list passed over for promotion.

Now we are confronted with two competing moral sentiments. On the one hand, there is the idea that those who have been unfairly disadvantaged by past discriminatory practices are entitled to some kind of assistance. On the other, there is the feeling that no person ought to be deprived of what is rightfully his or hers, even for the worthwhile service of fellow human. In this respect disability due to past racial discrimination, at least insofar as there is no connection to the passed-over worker, is like a natural evil. When a villainous man willfully and without provocation strikes and injures another, there is not only the feeling that the injured person ought to be compensated but there is consensus that the appropriate party to bear the cost is the one who inflicted the injury. Yet, if the same innocent man stumbled and injured himself, it would be surprising to hear someone argue that the villainous man ought to be taxed for the injury simply because he might have tripped the victim had he been given the opportunity. There may very well be agreement that he should be aided in his recovery with money and personal assistance,  and many will give willingly; but there is also agreement that no one individual ought to be singled out and forced to do what must ultimately be considered an act of charity.

(27)
The passage is primarily concerned with 

A. Comparing affirmative action programs to other government programs.

B. Arguing that affirmative action programs are morally justified.

C. Analyzing the basis for moral judgments about affirmative action programs.

D. Introducing the reader to the importance of affirmative action as a social issue.

E. Describing the benefits that can be obtained through affirmative action programs.

(28)
The author mentions toll road and tuition at state institutions in order to

A. Anticipate a possible objection based on counter examples.

B. Avoid a contradiction between moral sentiments.

C. Provide illustrations of common government programs.

D. Voice doubts about the social and economic value of affirmative action.

E. Offer examples of government programs that are too costly.

(29)
With which of the following statements would the author most likely agree?

A. Affirmative action programs should be discontinued because they place an unfair burden on nonminority persons who bear the cost of the program.

B. Affirmative action programs  may be able to achieve legitimate social and economic goals such as improved

C. Affirmative action programs are justified because they are the only way of correcting injustices created by past discrimination.

D. Affirmative action programs must be redesigned so that society as a whole rather than particular individual bears the cost of the programs

E. Affirmative action programs should be abandoned because they serve no useful social function and place unfair burdens on particular individuals.

(30)
The author most likely places the word “ funding” in quotation marks in order to 

     remind the reader that 

A. Affirmative action programs are costly in terms of government revenues.

B. Particular individuals may bear a disproportionate share of the burden of affirmative action.

C. The cost of most government programs is shared by society at large.

D. The beneficiaries of affirmative action are members of larger groups.

E. The cost of affirmative action is not only a monetary expenditure.

(31)
The “Villainous man” discussed functions primarily as

A. an illustration

B. a counterexample

C. an authority

D. an analogy

E. a disclaimer

(32)
According to the passage, affirmative action programs are different from most other government programs in which of the following ways

I. The goals the programs are designed to achieve

II. The ways in which cost of the programs are distributed

III. The way in which benefits of the programs allocated

A. I only

B. II only

C. III only

D. II and III only

E. I,II, and III

PART II

Q1. 
Fill in the missing number in the sequence  

2 
5   
11  
?? 
 32    
47

(a)  24   (b)  30  (c) 20   (d) 18  (e) 16

Q2.
In the following series, how many Bs are there such that each B is followed by a G next to it if the G is not followed by a S next to it. 

B    G    B    S    Q    M    B    G    S    M    G    B    G    G    B    Q    M    B    

B    G    Q    B    G    S    G    B    A     M   G    B    G    M

(a)3
(b)2
(c)1
(d)4
(e)5

Q3.
If VXUPLVH is coded as SURMISE how will SHDUO be coded?

(a) SHEET
(b) TRIAL
(c) COVER
(d) PEARL
(e) CIGAR

Q4.
Suppose the first and second letters in the word SENSATIONALY were interchanged, also the third and fourth letters, the fifth and sixth etc.  Print the letter that would then be the tenth letter counting from the right.

(a) T 

 (b) L

   (c) N

   (d) S

   (e) A

Q5.
In which number system would 1234 represent the decimal number 466?

(a) Base - 6    (b) Base - 8    (c) Base - 7    (d) Base - 5   (e) Base – 9

Q6.
What is the largest prime number that can be stored in a 6-bit word computer?

(a) 71                     (b) 63            (c) 61            (d) 57           (e) 65

Q7.
If n = 68 x 12 x 51, which of the following is NOT an integer?


(a)
n / 204

(b)
n / 122

(c)
n / 153


(d)
n / 136

(e)
n / 72  

Q8.
Which of the following is a power of 3?


a.
6245

b.
6762

c.
6133



d.
6178

e.
6561 

Pick the odd one out

Q9.
(a)
ORACLE

(b)
WINDOWS NT   
(c)
INGRESS


(d)
DB2


(e)        SYBASE

Q10.
(a)
SMTP


(b)
PEOPLE SOFT
(c)
WAP


(d)
HTTP


(e)        ARP

Q11.
The three numbers in brackets represent the length of the sides of a triangle. Which of these does not represent a proper triangle?

(a)
(2m, 3m, 4m)
(b)
(4m, 5m, 4m)
(c) 
(4m, 4m, 8m) 

(d) 
(3m, 3m, 3m)     (e) 
(2m, 4m, 5m) 

Q12.
The three numbers in brackets in each of the following options represents the number of vertices, the number of edges and the number of faces respectively. Find out which of these represents a solid planar cube?

(a)  (8,12,6)  (b)  (8,6,12) 
(c)  (8,12,4)    (d)  (8,6,8)   (e)  (12,6,8)

Q13.
Which set of data exhibits a higher Standard Deviation?


(a)
2, 0, -2, 2, 0, -2
(b)
2, -2, 2, -2, 2, -2   (c)
-2, -2, -2, -2, -2, -2

(d)
2, 2, 2, 2, 2, 2

(e)
2, 2, 2, 0, 2, 2

The three circles below represent the number of people speaking Bengali, Hindi and English. Answer the next three questions based on the diagram
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Q14.
How many more (or less) people speak English than people who speak Hindi?


(a) 1
(b) 2
(c) 3
(d) 4
(e) 5

Q15.
What percentage of people speaking Bengali can also speak Hindi but not English?


(a) 12.6
(b) 13.6
(c) 14.6
(d) 17.4
(e) 16

Q16.
What percentage of total people can speak all three languages?


(a) 5
(b) 7
(c) 8
(d) 9
(e) 6


The figure on the left represents number of dealers for a Company and the figure on the right depicts region-wise distribution for 1998
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Dealers (in "00s)
Q17.
Which year has registered the maximum percentage growth in dealers?

(a) 1998
(b) 1886
(c) 1994
(d) 1686
(e) 1996

Q18.
What is the average number of dealers for 1995-1999?

(a) 7700
(b) 6800
(c) 7800
(d) 4800
(e) 8800

Q19.
If 10% of dealers in 1998 left the Company, how many fresh dealers were made in 1999?


(a) 4500
(b) 4600
(c) 4400
(d) 4900
(e) 5400

Q20.
A hypothetical physical quantity is defined as


(Power X Time) / (Velocity X Velocity)


In what fundamental units would this quantity be expressed?


(a) Time
(b) Mass
(c) Velocity
(d) Distance
(e) None

Q21.
A man, a woman and a boy can together finish a piece of work in 6 days. If a man can do it in 10 days and a woman in 24 days, how long will the boy take to do it?

(a) 24
(b) 40
(c) 36
(d) 44
(e) 12

Q22.
Which of these matrices is singular
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12     3

    18   12
         1     0
   
10   12


  A =

      B =

          C =

  D = 



 9      2

    6     4
         0     1

  3     4


(a) A
(b) B
(c) C
(d) D
(e) None

Q23.
Match the following relationships:


(i)
Mammal – Cow

(1)
Not a type of


(ii)
Oven – Building

(2)
Part of


(iii)
Beagle – Dog


(3) 
A type of


(iv)
Oxygen – Water

(4)
Superset of


(a) i-3,ii-1,iii-4,iv-2
(b) i-4,ii-1,iii-3,iv-2
(c)i-4,ii-1,iii-2,iv-3


(d) i-3,ii-2,iii-1,iv-4
(e) i-1,ii-4,iii-3,iv-2

Q24.
If & stands for doubling and % stands for change of sign what is the value of 

& % & (8)  -  % & % (8)?

(a)46
(b)48
(c) -48
(d)54
(e)-43

Q25.
A sequence is defined recursively as



g(0) = 1;
g(1) = -1



g(n) = g(n-1) - g(n-2)


What will be the value of g (6)?


(a) 2
(b) 3
(c) 1
(d) 4
(e) 5

Q26.
What curve best suits the following data:

	X
	Y

	0.99
	0.00001

	10.04
	1.02

	99.98
	1.997

	1000
	3.0

	9990
	4.004



(a) y = logn x
(b) y = log10 x  (c) y = ex   (d) y = -log10 x  (e) y = - ex
Q27.
A Two-dimensional array X (9,7) is stored linearly Row-wise in a computer's memory. Each element requires 4 bytes for storage of the value. If the first byte address of X (1,1) is 3000, what would be the last byte address of X (8,5)?


(a) 3215
(b) 3465
(c) 3175
(d) 3244
(e) 3216

Q28.
Of the four vectors A, B, C, D find out which pair forms an orthogonal set

 
A = 4i-3j, B = -7i+j, C = 3i+4j, D = i+j


(a) AC
(b) AD
(c) BC
(d) BD
(e) AB

Q29.
Evaluate the expression 

M (373,5) + R(3.4) + T(7.7) - R(5.8) where

M stands for Modulo arithmetic, R stands for Round-off operation and T stands for Truncation Operation

(a)3
(b)4
(c) 7
(d)6
(e)8

Q30.
Three independent mechanisms A,B and C have been incorporated for power saving in a plant producing respectively 25%, 20% and 10% efficiency. Assuming that they operate independently, what is the net power efficiency achieved?

(a) 46%
(b) 48%
(c) 44%
(d) 42%
(e) 41%

Q31.
The hourly declination of moon for a given day is as follows:



Hour


Declination



2


8o 6’ 43.5” 



4


7o 39’ 28.7”


Find the declination of the moon at hour 3.


(a) 7o 53’ 6.1” (b) 7o 56’ 54.5”  (c) 9o 46’ 33.5”  (d) 7o16’ 12.5” (e) 8o 39’ 28.7”

Q32.
What equation best describes the curve shown below:
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(a)y = tan x
(b) y = x + 3
(c)y + x = 0
(d) y = Cos x
(e) y + 3 = x


Q33.
The temperature at Chennai is given by the function: -t2/6+4t+12 where t is the elapsed time since Noon. What is the percentage rise (or fall) in temperature between 4.00 PM and 9.00 PM?


(a)34% 
(b) 36.2%
(c) 34.2%
(d) 38%
(e) 39%

Q34.
An aircraft takes off from A (0o N Lat, 80o E Long) at 2.00 AM local time to B (32o N Lat, 40o W Long). If the flying time is 9 hours what is the local time of landing at B?

(a) 5.40 AM
(b) 4.00 AM
(c) 3.00 AM
(d) 7.00AM
(e) 8.00AM

Q35.
Fill in the last row of the following Truth Table:

	A
	0
	0
	0
	0
	1
	1
	1
	1

	B
	0
	0
	1
	1
	0
	0
	1
	1

	C
	0
	1
	0
	1
	0
	1
	0
	1

	(A ( (B - C)
	
	
	
	
	
	
	
	



Interpret the resulting bit pattern as an integer in an 8-bit computer and write the decimal value.

(a) 44
(b) 46
(c) 43
(d) 47
(e) 41

Q36.
A file is transferred from one location to another in 'buckets'. The size of the bucket is 10 kilobytes. The bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt of the bucket the receiver sends an acknowledgement that reaches sender in 100 milliseconds. Assuming no error during transmission, write a formula to calculate the time taken in seconds to successfully complete the transfer of a file of size N kilobytes.


(a) 10.011 N
(b) 10.11 N
(c) 11.01 N
(d) 11.011 N
(e) 10.101 N

Q37.
The data storage space required is given by the function P (N) = 4000 √N, where N is the number of data elements used. Find the percentage change in storage if the number of data elements is increased by 1%.

(a) 0.5% 
(b) 0.25%
(c) 0.75%
(d) 1% 
(e) 2%

Q38.
A telephone cable is to be run from a junction point on the bank of a river 900 meters wide to an office that is located 3000 meters downstream on the opposite bank. If the cost of laying cable under water is Rs. 5 per meter and that of laying overhead on land is Rs. 4 per meter, find the point downstream where the cable is to cut across the river.


(a) 450 
(b) 3900
(c) 1800
(d) 2100
(e) 2700

END OF  PART II

PART III

Read the following passages and answer questions under each passage

(1) Five executives of an Indian corporation, hold a conference in Lonavala

Mr. A converses in Hindi and Telugu

Mr. B converses in Hindi and Malayalam

Mr. C converses in Malayalam and Telugu

Mr. D converses in Oriya and Hindi

Mr. E, a native of Andhra Pradesh can also converse in Oriya

 1. Which of the following can act as interpreter when Mr. C and Mr. D wish to confer?

(A) Only Mr. A 

(B) Only Mr. B

(C) Only Mr. E 

(D) Mr. A or Mr. B 

(E) Any of the other 3 executives

2. Which of the following cannot converse without an interpreter?

(A) Mr. B and Mr. E

(B) Mr. A and Mr. B

(C) Mr. A and Mr. C

(D) Mr. B and Mr. D

(E) Mr. A and Mr. E

3. Besides Mr. E which of the following can converse with Mr. D without an interpreter?

(A) Only Mr. A 

(B) Only Mr. B

(C) Only Mr. C 

(D) Messrs. A and B

(E) Messrs. A, B and C

4. If a sixth executive is brought in, to be understood by the maximum number of the original 5, he should be fluent in 

(A) Malayalam and Oriya

(B) Telugu and Malayalam

(C) Oriya and Telugu

(D) Telugu and Hindi

(E) Malayalam and Hindi

(2) At a Congress of the Democratic Party, the seven top party leaders, who are cabinet ministers, are seated on the plat form in order of rank. The Prime Minister, the Party leader is in the center. The closer a person is to the Prime Minister, the higher is his or her rank, with a person on the Prime Minister’s right out-left. The seven leaders are Alan, Bill, Clayton, Denzil, Edwin, Frank and George.

Frank is 4 places to the left of the Minister of Agriculture, who is 2 places to the right of Clayton. 

Bill’s neighbours are Alan and the Minster of Agriculture.

George is two places to the left of Denzil 

The Minister of Education, Mining and Culture are seated together, in that order from the left to the right. 

The remaining Ministers are those of Social Welfare and Defense

1. The Minster of Culture is:

(A) Alan

(B) Bill

(C) Clayton

(D) Denzil 

(E) Edwin

2. The fifth ranking person in the party hierarchy is 

(A) George, the Minister of Mining

(B) Frank, the Minster of Culture

(C) Denzil, the Prime Minister

(D) Edwin, the Minister of Defense

(E) Alan, the Minister of Education

3. The Minister of Social Welfare 

I. outranks the minister of Defense

II. is outranked by the Minister of Mining

(A) I only

(B) II only

(C) I and II only

(D) I or II, but not both

(E) Neither I nor II

4.How many of the seven party leaders out rank the Minister of Education?

(A) 2

(B) 3

(C) 4

(D) 5

(E) 6

(3) R is the father of 2 children, S and U, who are of different sexes. T is S’s spouse. B is the same sex as U. S and T have 2 children, W who is the same sex as S, and X, who is the same sex as T

V’s mother, Y, who is married to L, is the sister of U’s mother, M.

V and V’s spouse, I, have 2 children, J and K, who are the same sex as I.

No persons have married more than once, and no children have been born out of wed lock. The only restrictions on marriage are that marriage to a sibling, to a direct descendant, to a person of the same sex, or to more than one person at the same time is forbidden.

1. W is 

(A) X’s brother

(B) X’s sister

(C) S’s daughter

(D) U’s niece or nephew

(E) The same sex as Y

2. According to the rules, U can marry:

(A) W only

(B) W only

(C) J only

(D) J or K only

(E) W, J or K

3. If L and Y are divorced, Y could marry

I. U only

II. W

III. U or X

(A) I only

(B) II only

(C) I and II only

(D) I or II, but not both

(E) II or III, but not both

4.If the generation of W and K’s parents and their siblings contains more females than males, which of the following must be true:

(A) There are more females than males in W and K’s generation
(B) J is a male

(C) R is the same sex as U

(D) K and X are the same sex

(E) U is Y’s nephew
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